CranpaptHble nHesmouunuHapbl DSBC, no ISO 15552

TexHuyeckue XapaKTepuctmku

FESTO

Pasmepbl Ckayarb CAD-paHHble =» www.festo.com
ZJ+
A WH L8+
L2 Bl VA
L7 PL
VD EE RT X3
(G
N4
= @® ~ =
ol =X il
ZIM /N /)
T oy | @
TN >E
X2 X1 N
L3 ‘ G
BG
G
+  =NI0C X074
®80/100 BUHT ¢ BHYTpEHHEN pe3bboii B
roNOBKE ANA MOHTAaHbIX
2! npuHaanexHocren
999\ PerynvpoBOYHbIA BUHT A
BG HACTPOIKY AeMIUPOBAHNA B
KOHEYHOM MONOXEeHUN
Ncnontexune
T - 1ByCTOPOHHUI LITOK
—\ @ ‘=
M — | A | i g
E () N E
H- [ O @J H
WH L8+
ZM++ + = I0C X0h
%) A B BG E EE G U2 U1 KK L2 L3 L7 L8
%}
[mm] -0.5 d11 MUH. +0.5 -0.2 +0.1 +0.1 -0.2 MaKc. +0.4
32 22 30 16 45 GYs 28 5.7 5.25 M10x1.25 18 5 6.5 94
40 24 35 16 54 GYa 33 8 4 M12x1.25 [ 21.3 5 7.5 105
50 32 40 17 64 GYa 33 10.4 5.5 M16x1.5 26.8 5 9.5 106
63 32 45 17 75 G 40.5 12.75 6.25 M16x1.5 27 5 9 121
80 40 45 17 93 G 43 12.5 8 M20x1.5 34.2 - 11 128
100 40 55 17 110 GY2 48 13.5 10 M20x1.5 38 - 7.5 138
(%) MM PL RT TG VA VD WH Z) M =1 =2 =<3
%}
[mm] +0.1 +0.3 -0.2 +0.5 +2.2 +1.8 +1
32 12 19.5 M6 32.5 4 10 26 119.1 146.1 10 16 6
40 16 22.5 M6 38 4 10.5 28.7 133.9 164.8 13 18 6
50 20 22.5 M8 46.5 4 11.5 35.6 141.8 179.8 17 24 8
63 20 27.5 M8 56.5 4 15 35.9 157.1 195.4 17 24 8
80 25 30 M10 72 4 15.7 45.4 173.6 221 22 30 6
100 25 31.5 M10 89 4 19.2 49.3 187.5 238.8 22 30 6
10 => Unteprer: www.festo.com/catalogue/...

Bo3MoXHbI 3meHeHus — 2012/02




